
dia_mes

dia_semana

= maio16-31

causa_acidente

!= maio16-31

CFerido (2.0)

= Quarta

CFatal (7.0)

!= Quarta

SVitima (4.0)

= Distancia seguranca

municipio

!= Distancia seguranca

dia_semana

= Terezopolis de Goias

dia_mes

!= Terezopolis de Goias

CFatal (4.0)

= Domingo

CFerido (11.0)

!= Domingo

CFatal (1.0)

= julho1-15

causa_acidente

!= julho1-15

SVitima (3.0)

= Velocidade incompativel

tipo_acidente

!= Velocidade incompativel

dia_mes

= Capotagem

tipo_veiculo

!= Capotagem

CFerido (1.0)

= maio1-15

SVitima (6.0)

!= maio1-15

dia_semana

= Carga

dia_mes

!= Carga

CFerido (2.0)

= Quarta

dia_mes

!= Quarta

CFerido (1.0)

= agosto1-15

dia_mes

!= agosto1-15

CFerido (1.0)

= setembro1-15

dia_semana

!= setembro1-15

CFerido (1.0)

= sabado

SVitima (8.0)

!= sabado

SVitima (1.0)

= dezembro1-15

municipio

!= dezembro1-15

dia_mes

= Goiania

CFerido (39.0/2.0)

!= Goiania

SVitima (2.0)

= novembro1-15

tipo_acidente

!= novembro1-15

SVitima (2.0)

= Saida pista

CFerido (7.0)

!= Saida pista


